
Puissances de Dix (E)

45 × 1 = 22 × 1 =
45 × 10 = 22 × 10 =
45 × 100 = 22 × 100 =
45 × = 22 × =
45 × = 22 × =

42 × 1 = 63 × 1 =
42 × 10 = 63 × 10 =
42 × 100 = 63 × 100 =
42 × = 63 × =
42 × = 63 × =

50 × 1 = 85 × 1 =
50 × 10 = 85 × 10 =
50 × 100 = 85 × 100 =
50 × = 85 × =
50 × = 85 × =

21 × 1 = 59 × 1 =
21 × 10 = 59 × 10 =
21 × 100 = 59 × 100 =
21 × = 59 × =
21 × = 59 × =

20 × 1 = × 1 =
20 × 10 = × 10 =
20 × 100 = × 100 =
20 × = × =
20 × = × =

DÉFI
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1 000 1 000
10 000 10 000

1 000 1 000
10 000 10 000

1 000 1 000
10 000 10 000

1 000 1 000
10 000 10 000

4 620
4 620
4 620

1 000 4 620 1 000
10 000 4 620 10 000



Puissances de Dix (E) Solutions

45 × 1 = 45 22 × 1 = 22
45 × 10 = 450 22 × 10 = 220
45 × 100 = 22 × 100 =
45 × = 22 × =
45 × = 22 × =

42 × 1 = 42 63 × 1 = 63
42 × 10 = 420 63 × 10 = 630
42 × 100 = 63 × 100 =
42 × = 63 × =
42 × = 63 × =

50 × 1 = 50 85 × 1 = 85
50 × 10 = 500 85 × 10 = 850
50 × 100 = 85 × 100 =
50 × = 85 × =
50 × = 85 × =

21 × 1 = 21 59 × 1 = 59
21 × 10 = 210 59 × 10 = 590
21 × 100 = 59 × 100 =
21 × = 59 × =
21 × = 59 × =

20 × 1 = 20 × 1 =
20 × 10 = 200 × 10 =
20 × 100 = × 100 =
20 × = × =
20 × = × =
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4 500 2 200
1 000 45 000 1 000 22 000

10 000 450 000 10 000 220 000

4 200 6 300
1 000 42 000 1 000 63 000

10 000 420 000 10 000 630 000

5 000 8 500
1 000 50 000 1 000 85 000

10 000 500 000 10 000 850 000

2 100 5 900
1 000 21 000 1 000 59 000

10 000 210 000 10 000 590 000

4 620 4 620
4 620 46 200

2 000 4 620 462 000
1 000 20 000 4 620 1 000 4 620 000

10 000 200 000 4 620 10 000 46 200 000


